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Hira A4 Al oiste ral v AlA-unidll 53 [Q2if@q o3< 972
(A) [@2amq A B) [a2n B6
(©) [daan ¢ [()))|CEIREN e

DAl sul A1 so1-U $12091 A 97
(A) U331 (B) 2195153
(C) M1~ AREL D) e, Ny

AR

(Qeuor T A [Qeud IT 08 2A3dl 4y [asey uaie s2u.

I 11
1. [Rua1Sdla i. didl
2. iR jil. 45d
3. i@ iii. AL
4. AQAMa iv. 35l
(A) 1-iv, 2 - iii, 3 - ii, 4 - i (B) 1-iv, 2 -ii, 3 - i, 4 - iii
©)1 -ii, 2 - iv, 3 - iiii, 4 - i (D) 1 -1, 2 - iii, 3 - iv, 4 - ii
Qaumidl sul selsidizasl wld Hidd A<1R 12 Yoo Glof tld dils 97
(A) {1 (B) s610
(C) B3 D)3

g1 (s19HlR)ui 20l sul s Geua Alssy sall [Aun [Aldad sald €97
(A) e (B) A3 LeAlsH,
(©)ddln (D) $10

URAML 3 Asd AR Riei gedl R a5 zinvua 97
A)PesRia (B) HSIRN
(C) Heauga (D) %A

A2unied w2l 56 Alefl Al noalai 8 % [Qani Al Yasa wnidR 53 8 2 A 21 Holauell
Rl GuuisHi B3It MR 97

(A) AS6iRuA (B) ARA
(C) by, D) HSAA

sl 22 202111 A3EL gl Aal2a AR S At U8R g §5 duedl Hriud sul 97
(A) A (B) RAUAHIR
(©) M1t (D) 3§23 204 214121
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Which of the following vitamins is required for clotting of blood in the human body?
(A) Vitamin A (B) Vitamin B6
(C) Vitamin C (D) Vitamin K

Which of the following diseases is caused by a fungus?
(A) Dysentery (B) Typhoid
(C) Common Cold (D) Ringworm

Match column I with column II.

I 11
1. Hepatitis i. Blood
2. Pneumonia ii. Liver
3. Arthritis iii. Joints
4. Thalassemia iv. Lungs
(A)1-iv, 2 -iii, 3 -ii, 4 -1i B)1-iv, 2 -ii, 3 -1, 4 -iii
©)1-ii, 2 -iv, 3 -iii, 4 -i M) 1-1i,2 -iii, 3 -iv, 4 -ii

Which of the following is the source of carbohydrates as a major energy source for the human
body?

(A) Butter (B) Pulses

(C) Egg (D) Bread

Which annual festival organized in Srinagar (Kashmir) showcases a large variety of a particular

flower?
(A) Marigold (B) Cherry blossom
(©) Tulip (D) Lotus

Which state in India is recognized as the natural habitat of the Asiatic Lion?
(A) Gujarat (B) Maharashtra
(C) Madhya Pradesh (D) Rajasthan

Which among the following are the smallest species of cranes that undertake one of the toughest
migrations in the world and fly from China and Mongolia to the Indian subcontinent?

(A) Siberian (B) Sarus
(C) Blue (D) Demoiselle

Which country has conferred the highest civilian decoration, Order of the Druk Gyalpo, on Prime
Minister Modi in 2021?

(A) Nepal (B) Myanmar
(C) Bhutan (D) United Arab Emirates
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Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight


009.

010.

011.

012.

013.

014.

01S.

016.

QAL 5§ 6l gl BruR Al [Fall Aglanl (s aul sal?
(A) Ry 211 Jan (B) “USA A1 beyuda
(C) [R-g 52 211 s100a D) 21530A 21 Y3

suL s G yd AR 2uleaflaid 2is sul 21 4@ Hi2L 1oL YR $61o $2-1R AR HdIA
A2 6117

(A) BA» we gaas (B)420 v
(C) u5612 (D) U230

2uyded A su1deql Gude dRiumi 2ud 697
(A) 8248 (B) uxde
(C) umde (D) »addg

D2l-umiol 53 well ¢ 3w yat v Al ay AR ealaami 2nad well 97
(A) g (B) Hue9ell
(C) sun D)%ioua (yRsi

sl A A Ul Bt (el Nid)l AR a5 [AYsd sUni 2iel st 3 ueslall Moy, msA-L
WAL A% iUl Sl?

(A) Yufam A (B) Ao W
(©)nis (D) Baga:

SUL YEA GUEASL AL EARU YUA 21U A=l Yl YorHi usizy?
(A) 25012 (B) wsiollR
(© sl (D) AR

(Y

(Bal2o 2auld 215.301¢, Ba-u gL Bad sda AlA-unidl sa 2us1Rs Yarsl aes 8[R2y sl
MRAHI [As2iRuq afs Raudad i Gerse 2 697

(A) 32 4 s Slsun (B) H[B&L Man
(C) 2161 ¢le D) eula B 2R

(Qeuor T A [Qeud IT 08 2A3dl 4y [asey uie s2u.

I 1
1. a3 nug i dlsHLd
2. oue dduR [aas ii. AU vasa
3. E1EIHLS AR TNCIERETRIEMRTESY
4. ALaMMUS uSd iv. [Se-u €181
(A) 1 -1, 2 - i, 3 - iiil, 4 - iv ®B)1-ii, 2 -1, 3 - iv, 4 - iii
(C) 1 -iii, 2-iv, 3 - i, 4 - ii (D) 1 - iv, 2 - iii, 3 - i, 4 - i
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The Mesopotamian civilization grew along the banks of which two rivers among the following?
(A) Indus and Jhelum (B) Nile and Blue Nile
(C) Hindukush and Kabul (D) Tigris and Euphrates

Which ruler united the tribes of North East Asia and became the first Mongol Emperor who
occupied most of Asia?

(A) Firuz Shah Tughlaq (B) Genghis Khan
(C) Akbar (D) Aurangzeb

Ayurveda is considered to be an upveda of which of the following Vedas?
(A) Rigveda (B) Yajurveda
(C) Samaveda (D) Atharvaveda

Which of the following is the most frequently portrayed animal on Harappan seals?
(A) Bull (B) Fish
(C) Lotus (D) Unicorn

Which Mauryan King was earlier appointed as the governor of Ujjain (Avanti Province) and later
became a famous king of the Magadha Empire?

(A) Pushyamitra Maurya (B) Chandragupta Maurya
(C) Ashoka (D) Bindusara

During which Mughal emperor’s reign, Mughal architecture reached its Golden Age?
(A) Akbar (B) Jahangir
(€) Shah Jahan (D) Aurangzeb

Which of the following iconic UNESCO World Heritage monuments designed by British architect
F. W. Stevens exemplifies Victorian Gothic Revival architecture in India?

(A) Gateway of India (B) Mani Bhavan
(C) Town Hall (D) Chatrapati Shivaji Terminus

Match column I with column II.

I 11
1. Sarojini Naidu i. Lokmanya
2. Bal Gangadhar Tilak ii. Nightingale of India
3. Dadabhai Naoroji iii. Iron Man of India

4. Vallabhbhai Patel iv. Grand Old Man of India
A)1-1i,2-ii, 3 -iii, 4 - iv @)1 -ii,2-1i,3-1iv, 4 -iii
©)1-iii, 2 -iv, 3 -1, 4 -ii M) 1-iv, 2 -iii, 3 -ii, 4 -i
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c

s1¥g24i A1y, (CPU)-L 244....
(A) s21a WALy (B) sH1-s WAL yRe
(C) sixyRzaq WAl yRe D)A-2a WAk ylae

Duniddl sul ace sirgedl wiAkio 103 A8 Asuddl 82
(A) A=A (CPS) (B) [®12 (BITS)
(©)xA1ud 2 (MIPS) (D) 2V\® (JPG)

A2umiodl surneadl 15 2AiHayAl v2ist Al ay wa 9?
(A) Guasl2oilu ®)sdlu
(C) [Ayagdla (D) HSIRAURIR

RURAHE AURAAL AHIH A Bt AW UHIAUA Hnadl-l 32 6, d 5uL UH 20 87
(A) BeAA AU UHIRUA (Emission Check Certification)

(B) [Rai>121 61 UENRL (Pollution Under Control)

(C) UM dULlA UHWYA (Pollution Check Certificate)

(D) R 601 B (Emission Under Control)

(Qeuor T A [Qeud IT 08 2A3dl aivy [asey ue s2u.

I 1l
1. 0le i sla-l - uaH Alwn
2. vgA2 ii. G2 JpRIaT HR1AdL slal
3. [@o-usSe iii. [ dpR1aTl qR1adl sl
4. [Biyu iv. HEAH ORlaTlL HRAdAdL Sl
@)1 -, 2 - i, 3 - i, 4 - iv B) 1 -ii, 2 - iv, 3 - iiii, 4 - i
(C) 1 -iii, 2 -1, 3 - iv, 4 - ii (D) 1 - iv, 2 - i, 3 - i, 4 - ii

Yrigll A2l GuAtHel Ao’ 24 DUEL QU-IR Wwlld Quis W1 UH g 97

(A) RS H&l (B) AAdlael
(€©) arudnx larda (D) YAsid [Frwél
DAHidl 5y viuviug 10l?

(A) U 315 HIRA WIS S Al UL 8, U AHA Hirlaomd H2 A5 [Qaun saio 6. — la 2uHrgloL
B) x5 a2 iR [ Gladl UL GURd @an i ddadl W2 il e, — usie i)

(C) AMIRL 22 AHIAL W2 & 530 25 €9 Yol Al ; Uesl 5 dH dxiRL 2L HI2 g 531 Asl. — wsin 245, 54
(D) disudl 2 dlsid, dlsl 1 27 Al glRL AAg WA, — 2Au8H (A
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In computer, CPU stands for
(A) Control Processing Unit (B) Command Processing Unit

(C) Communication Processing Unit (D) Central Processing Unit

Which of the following terms is associated with the computer’s processing speed?
(A) CPS (B) BITS
(C) MIPS (D) JPG

Ozone depletion is greatest near which among the following regions?
(A) Tropical (B) Polar
(C) Equator (D) Ocean

All vehicles in use in India need to obtain the emission check certificate that is known as
(A) Emission Check Certification

(B) Pollution Under Control

(C) Pollution Check Certificate

(D) Emission Under Control

Match column I with column II.

1 11
1. Peat i. First step in the formation of coal
2. Anthracite ii. Highest quality coal
3. Lignite iii. Lowest quality coal
4. Bituminous iv. Second highest quality coal
A1 -i, 2 -ii, 3 -iii, 4 - iv B)1-ii, 2 -iv, 3 -iii, 4 -1i
©)1-iii, 2 -1i,3 -iv, 4 -ii D) 1-iv, 2 -iii, 3 -1, 4 -ii

What is the real name of the famous writer who wrote the ‘Gaban’ and ‘Godaan’ using the pen
name Munshi Premchand?

(A) Taarak Mehta (B) Maithili Sharan Gupt
(€) Dhanpat Rai Srivastava (D) Suryakant Tripathi

Which among the following is an incorrect match?
(A) One small step for a man, one giant leap for mankind — Neil Armstrong

(B) At the stroke of midnight hour when the world sleeps, India will awake to life and freedom —
Mahatma Gandhi

(C) Ask not what your country can do for you; ask what you can do for your country —
John F. Kennedy

(D) Democracy is a rule of the people, for the people and by the people — Abraham Lincoln

[BJL] [PT.0.
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Agaul \YdAW’ HeLSIU 518l 4vy 8 ?

(A) s0il (B) L
© slacin (D) eIz

A ooA

Qe I A [Qeuo 11 08 2A3dl aiey [asey uae s2u.

I 1
1. Hyot-il i wlRxu

2. ardll ii. 214 ueal

3.uzlAa iii. (Ge1R

4. saus3l iv. HSIRNZ
A1 -iii, 2 - iv, 3- i, 4 - ii (B) 1-1i,2-ii, 3 - iv, 4 - iii
(C) 1 -iii, 2 - iv, 3 - i, 4 - i (D) 1 -iv, 2 - iii, 3 - i, 4 - ii

MR 21 Yru2s 22 (i) st Aul v 2024 i [Gually Hiradiuel asiadl 21 2uulki s
(HADR) $add 812 43 el 2 s8aun 69...

(A) Ran um (B) HALUR
(C) Ru-2iis-u-ululzs D) 215012 21uvs-24

205 VL sULABUA Hs LA USIR 6, B WAL IR AABGL RAUANAHE SAURL 20 B7?
(A) 21d (B) U4
(C) [Buaa uga D) ¥y 24 s1e4l2

Duniddl 54 v U dlsueag a3y 8?2

(A) U4 (B) dxuau

(C) WildAlAzn (D) ollg

iU Lol [Bau 20244 du g 8d?

(A) YA 523154 (B) Al2L A, sl

(C) ud W2 Wi (D)RaL 24 A3 W2 UldL

Dalumiddl 54 yrdedla 2an Ry vl desldd qoa el a8 ¢d?
(A) 83w (B) M &3l
(©)qiaa (D) GuruHidl 245 gL 4l

202341 MIRdHL 5UL A%U/SwAUAd ueaHidl [ARuHAL Hi2L WHIRHE 21 UHA ¢H31R HUll 2ucl 97
(A) A¥Ud (B) Aig1HI
(©) ¥y 1A 519412 (D) @sglu
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Who wrote the epic 'Raghuvamsha’' in the Sanskrit language?
(A) Kabir (B) Ravidas
(€) Kalidasa (D) Valmiki

Match column I with column II.

| 11
1. Madhubani i. Odisha
2. Warli ii. Andhra Pradesh
3. Pattachitra iii. Bihar
4. Kalamkari iv. Maharashtra
A1 -iii, 2 -iv,3-i,4 -ii (B)1-i,2-ii, 3 -iv, 4 - iii
©)1-iii, 2 -iv, 3 -ii, 4 -1i M) 1-iv, 2 -iii, 3 -1i, 4 -ii

Indian and United States (US) navies conducted a bilateral Humanitarian Assistance and Disaster
Relief (HADR) exercise in March 2024 called:

(A) Exercise MILAN (B) Malabar
(C) Rim-of-the-Pacific (D) Tiger Triumph-24

Rouf is a dance form carried out by women in welcoming the spring season originated

in
(A) Gujarat (B) Assam
(C) Himachal Pradesh (D) Jammu and Kashmir

Which among the following is a form of folk theatre from Maharashtra?
(A) Nautanki (B) Tamasha
(C) Mohiniyattam (D) Bihu

What was the theme of the International Yoga Day 2024?
(A) Vasudhaiva Kutumbakam (B) Yoga and Welfare
(C) Yoga for All (D) Yoga for Self and Society

Which of the following archaeological sites was the major port town of the Indus Valley Civilization?
(A) Harappa (B) Mohenjo-daro
(©) Lothal (D) None of these

Huge quantities of Lithium reserves have been found in which Indian state/UT in 2023?
(A) Gujarat (B) Andaman
(€) Jammu & Kashmir (D) Lakshadweep

[BJL] [PT.O. n
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AUAL HuHAL S FAALIR 97
(A) GURAAL A3MHLA (B) AU AFAUE
(C) ABAAUML D) R1sul [Qrnueu

@R rzuld M vs@aial sriadl sia ag 530 as 97
(A) siSuRL [Qaas (B) HIA ALSARU
(C) WA ABAAML D)Riued siduv e

Scllell siflAsn Rulbasui cudluia sranaa HIS MIRd ASIR GIRL AR R suL U v 97
(A) YA A8 B) »iua Hsradl
(C) U Bglqu (D) 20432 3N 2

MURAHE SR UL VA HogR s 2UvE) 218512 Aunidl sid 97
(A) *uRd-ll g (B) ALSAIAL A8
(©) duraru ezuld (D) MURArL A3MHLL

QML A2 HIEL USAL HIRdAL S A3 YRS HAlsld 2L Sal?
(A) x2aBre1d) susws (B) 1Ml Qe
(©)S [~ aid) (D) Aq i)

YU 215 20 (G20)7 AL AUHUE sUL B WA 7
Ay aulra (B) H1Rd
(©) Sa1dl (D) sl 2ulds

ALS (SAARC)UI 3241 A, 2L A a1y 897
(A7 B) 8
(©)9 (D) 10

RURArL uld Uldid A2y, sid 20 97
(A) MURdA-L v ~uay[d

(B) ALSARUAL A8

(©)*Rd-1 Guruld

(D) HIRcrL A3MHLA

DAA-umidd sier aud- anuld-ll 12 u4l ug u Wl a5 9?
(A) MURAL A3MHLL (B)Ruru-u AU
(C) MRd- 42l s@a-r (D) AlSAMLAL AR

[BJL] [Contd.


Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight


032.

033.

034.

03s.

036.

037.

038.

039.

040.

The Chief Minister of a State is responsible to
(A) The Prime Minister of India (B) The Governor of the State
(C) Rajya Sabha (D) Legislative Assembly of the State

Who can initiate impeachment proceedings against the President of India?
(A) Any Vidhan Sabha (B) Only Lok Sabha
(C) Only Rajya Sabha (D) Either House of Parliament

The evacuation mission by the Indian Government to rescue Indians from Haiti to the Dominican

Republic is known as:
(A) Operation Rahat (B) Operation Indravati
(C) Operation Indradhanush (D) Operation Desert Storm

Who among the following has the final right to sanction the expenditure of public money in India?
(A) The Parliament of India

(B) The Speaker of the Lok Sabha

(C) The President of India

(D) The Prime Minister of India

Before Prime Minister Narendra Modi, which Prime Minister of India visited the UAE?
(A) Atal Bihari Vajpayee (B) Manmohan Singh
(€) Indira Gandhi (D) Rajiv Gandhi

Who is the current Chair of the Group of 20 (G20)?
(A) Brazil (B) India
(C) Italy (D) South Africa

How many member-states is the SAARC comprised of?
A7 B)3
(O D) 10

The President of India gives his resignation to the
(A) Chief Justice of India (B) Speaker of Lok Sabha
(€) Vice President of India (D) Prime Minister of India

Who among the following holds office during the pleasure of the President of India?
(A) Prime Minister of India (B) The Governor of the state
(C) Election Commissioner of India (D) Speaker of the Lok Sabha

[BJL] [PT.O. n
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047.

cuRdr 0uldq wou-l ygaell »iol Q& unidl sy vilg 97
(A) uRuSly 52158 eRarr d uerdl asw 6.

(B) dr t1og2ui 1l galacuui 2ucan 69,

(©)d tuRa- 2u5[RUS Gi3IN U Ayl 20d 6.

(D) dA Aue-l 515 HoglAl 3= el

AAniedl 56 [RHYs Cud- uld g1 sami 2uadl —d?

(A)AlsucUA AR (B) MRl Yoo =a¥(d

(C) AWyA-I-L A3l (D) AruriL A3l

RURARE SR A (UT) - Huu NaL-, ol 20 U511 cuaen Rdcul 8, d s gl [Rysd sawl
w14 897

@A) 3slAd v (UT)-u dgeni-e dard2 (B) [Atuucuni sigHdl qaadl ua

(C) MR~ guld (D) MURArL A3MBLL

RURAHE URHIY, 2L Gualol sau-l A si-l A 87

(A) MRA 02uld 21aa1 [Rysd 2ugousdl (xrgoull)

(B) a1 ast nanr 21l Ry sd 20 (xgoudlil)

(C) UBLeHS B SHL=3L $HIwR O s vaal [Aysd 2003 (ol
(D) A agt A Ay sd 210l (agoudlil)

MR 6ll2 uHIRY ALHLA, INS 2 Ra1d L A1 G&2u/Beul uRE 53U,

L d GuRd-dl w1y, (ydlA ay Hartid oirlagl 214 uHR, Wdldsd aqial.

IL d M2 AML A8LeHs Adart 2 Aild 20 sumi Hee 529 x4 -l Yreuui [Raus ¢@s moasl.
(A) 8541 (B) 55 11

(©)1 241 11 0iA (D) Gu-uHidl 245 e 4l

Rl UMY, AAAL YN 84, 2l 87

(A) U 21 Al SV AW URHIY, ARAALL GUAULL 27 HH S s W2

(B) MU A drll Sl A1H YZUANA AL GUALLL 44 32 A s W2

(C) [GR1H) 121 w1 Guaiod A W

(D) Gu-umiafl 245yl Al

202241 2lHL A A Y23 A FHAS svd-anl i sASH2 A (UNFCCC) HI2 S5
2415 4 W% (COP26)U 2611 AAHL MR Wdotgdln AeMH 55 019 97

(A) 2050 Y1 gu Gug g deu siua 529

(B)2070 Y1l Y Beuofrd asu siua 54

(C) 2050 Yui R-y2Aoia vi2gHiall d-l 50% Gla-l 3[Rudl y 524
(D) Gu-uuiefl 245y Al
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Which of the following is incorrect regarding the payment of the emoluments of the President of
India?

(A) They can be reduced during a Financial Emergency

(B) They are shown separately in the budget

(€) They are charged on the Contingency Fund of India

(D) They do not require any Parliament sanction

Which of the following appointments is not made by the President of India?

(A) Speaker of the Lok Sabha (B) Chief Justice of India

(C) Chief of the Air Force (D) Chief of the Army

The Chief Minister of a Union Territory (UT) in India, where such a setup exists, is appointed
by

(A) The Lt. Governor of the UT (B) The majority party in the Assembly

(C) The President of India (D) The Prime Minister of India

In India, the authority to release nuclear weapons for use resides with:

(A) The President of India, or the designated successor(s)

(B) The Prime Minister of India, or the designated successor(s)

(C) The Commander in Chief of Strategic Forces Command, or the designated successor(s)
(D) Chief of Army Staff, or the designated successor(s)

Select the correct objective(s) of ‘INS Arighaat’, the second nuclear submarine of India.
L. It will further strengthen India’s nuclear triad and enhance nuclear deterrence

IL. It will help in establishing strategic balance and peace in the region, and play a decisive role in
the security of the country

(A) Only I (B) Only II
(C) Both I and 11 (D) None of the above

The fundamental purpose of Indian nuclear weapons is

(A) To deter the use and threat of use of nuclear weapons against India and its forces

(B) To deter the use and threat of use of conventional weapons against India and its forces
(C) To deter the use of propaganda by the adversary

(D) None of the above

Which is correct regarding India’s commitment expressed at the 26th session of the Conference of
the Parties (COP26) to the United Nations Framework Convention on Climate Change (UNFCCC)
held in Glasgow in 2022?

(A) Achieving the target of net zero emissions by 2050
(B) Achieving the target of net zero emissions by 2070

(C) To meet 50% of its energy requirements from renewable energy by 2050

(D) None of the above
[BJL] [PT.O. m
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048.

049.

050.

051.

052.

053.

054.

05sS.

=

ol YL Ygril L il AG2A 21 nellg [Aun siel sgf 97
(A) YU UHML % U S (B) 45l uyut el Fd-u bl
(©)curd-iL asmtA "3+ Higl (D) 2wy ol Byrmfiay

oAl WRAdAAL ML $cu W2 valael HE @3l (LIFE) -l @uRd-l H2A 58 sustisal uRad-
QLRIEUZIMI 29 UM 2UUL?

(A) COP 24 (B) COP 25

(©)cop 26 (D) COP 27

cuRdla = A8 20230 Szl DIl S glaL uAUHT ndd SISURL i Q) usd?
L. GuRd R 214 a-ll e8I siSuRL oz, MuRdsL SIS LR S
L GURAHL WA $IOURL %81 2424l [QHir -l sidue ul3d sui wa siy,

TIL SISURL U(3d iR R 14 d-l 681 siSuRL o1l cuRdul Rad 5192 Auan- qg
ol 9l 43

(A) $5d1 (B) $5d 1 A 11
(C) $5d 1 AR 1T D)t
T L1 udvaiad 4o 568 usid al eaid 87
a a+d a+2d
(A) AHidR 28l B)alRaq 2ell
(C) uw3RlTR siell (D) BuRisd U4l 2is urL 1l

il 2x — 3y = 11 12 2uden sa [Biguisd v 29?
@) 10, 3) (B) (10,-3)
© 1,3 (D) (13,-5)

So209) 2024 Hi v Alw 56 Slu?
(A) 143 ®) 15
(©) 164 (D) GURisd WA 218yt 1l

25 Auidl 100 U 31 50 L 10 Ur-i cud wile €9, 100 WlAa 3u. 30 0 10 WlRa-u cud, 100 0612
3. 20 7L 5 661270 G A1 100 612 31 100 <UL 2 tl2at-ll Hid wRlE . d AWkl 20 €35 agaiidl sida
A2 3L 80 WlA A2+ cud dA €9, 2l 70 A2 dA dl dA 524l 15l wu?

(A) 25% (B) 30%

(©)29.03% (D) 22.5%

BuRisd W2-054 L MUl Bualol 59 56 30% 151 Hoaa e dwdlz sudl sidan 30 A2 s2dl Bud
dua AS?

A3 82 (B) 3. 78

(C) 3\. 85 (D) 3\. 84

[BJL] [Contd.


Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight


048.

049.

050.

051.

052.

053.

054.

05S.

Who has famously said, “Today’s era must not be of war”?
(A) US President Joe Biden (B) Ukraine President Volodymyr Zelenskyy
(€) Indian Prime Minister Narendra Modi (D) Chinese President Xi Jinping

India’s mantra of Lifestyle for Environment (LiFE) to combat climate change was shared in which
Climate Change negotiations?

(A) COP 24 (B) COP 25
©)cor 26 (D) COP 27

The provisions of the Bharatiya Nyaya Sanhita, 2023 shall apply to any offence committed by
which of the following?

I. any citizen of India in any place without and beyond India
I1. any person on any ship or aircraft registered in India wherever it may be

II1. any person in any place without and beyond India committing offence targeting a computer
resource located in India

(A) Only I (B) Only I and 11
(C) Only I and III D) All

1 1 .
The terms —, —,— ..... are said to form :

a a+d a+2d
(A) An arithmetic progression

(B) A geometric progression
(C) A harmonic progression
(D) None of these

The line given by 2x — 3y = 11 passes through
@ o, 3) (B) (10,-3)
©a,3) (D) (13,-5)

The median date of the month of February 2024 is
(A) 14th (B) 15th
(C) 16th (D) None of these

A shopkeeper buys 100 Pens at the rate of Rs. 50 for 10 Pens, 100 Pencils at the rate of Rs. 30
for 10 Pencils, 100 Erasers at the rate of Rs. 20 per 5 and 100 pouches at the rate of Rs. 100 for
2 pouches. If he sells 70 sets consisting of each item at the rate of Rs. 80 per set, find the profit.

(A) 25% (B) 30%
(©)29.03% (D) 22.5%

As per data given in Q.-054 at what rate per set must the shopkeeper sell remaining 30 sets so as
to earn an overall profit of 30%?

A)Rs. 82 (B) Rs. 78
(C) Rs. 85 (D) Rs. 84

[BJL] [PT.O. E
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056.

057.

058.

059.

060.

061.

062.

063.

oA 6l YRIlS ALADAAL AHIAR HELS 2 AHILRUTR HELS AHLL SIU dl 2L 61 YRuls AvAil a2’ 9 viy
glu?

(A) [aRid) (B) uxu

(C) (D) GuRlsd WA 215 urL =l

s [3edladl el w3 31 8000 il GiiEAL woIR HA €9, Buid AR 3L 300 A [Eau-u 10 &)l atuR
2182 HI2, 31. 200 A [2a-it 10 YL 2082 12 21 31 100 a5 Yl 2082 S HOL . oL d- 218
wRuni 17 [Bam 12 28R, 10 [Bax 9 2082 241 3 [Bau 2 U8R 4L, dl d 30 [Bau-i HlEwni A1 524l
WoUR HNQl?

(A) 3L. 14,000/- (B) 3L 13,000/-

(©))31. 15,400/- (D) 3L. 16,000/-

=\ =\ 1 1 > AL

% 9x + 10y = 10x + 9y €id dl — — — -l [Zud 2usl.
(A) 1 x ) @)
1
<O D) —
2

A AHAL B1AdL 12 Yl 215 218 MRLdl 5 [Eax Al 9. o dnidl 2 Uy aldzd i di 28 MRudi s2ai
([Bau aal?

(A) 6 [2axn ®)7 Rax
(©) 8 [gaxn D) 9 R

-

BURAS U2-059 Hi A 15 YW AWURAHL 204 dl ddl 2 218 MR2Adi S2an [Baxn cawal?

A)6 [2au B) 7 [Baxn

(C) 8 [Bau (D) 9 [Bau

25 Auidl axgil GuR d-l ugdr [(BHd 52l 20% At [3Hd 91U 8. A AWlA 8% 15l Hnadl Sl dl d
524 andR 2l as?

(A) 20% (B) 10%

(©)15% (D) 8%

N oY

alisicuani x5 Rias 2us [Qendlziiu o Aend 8. A sa 480 [AensflzizA cuo dlal giu di ga 32
[Qast ASa?

(A)60 (B) 80

(C) 40 (D) 62

Y Y

s quidl WA 3L 2, 3L 5 21 3L 10 - 2as Rissizil 9. 35 [Rssivtiql Guaidl 53804 d 1A »uda
25uuid] 56 254 »5dl asA AE1?

@3 11 (B) 3. 19
(C) 3131 (D) 3. 41
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056.

057.

058.

059.

060.

061.

062.

063.

If two integers have geometric mean and arithmetic mean equal, then what is a relation between
two integers?

(A) opposites (B) equal

(C) inverses (D) can't say

A delivery boy is paid a fixed amount of Rs. 8000/- per month. As a perquisite he earns Rs. 300,
Rs. 200 and Rs. 100 a day, when he can fulfill more than 10, upto 10 and upto S orders respectively.
If he gets 12 orders for 17 days, 9 orders for 10 days and 2 orders for 3 days, what would he earn
in a 30-day month?

(A) Rs. 14,000/- (B) Rs. 13,000/-

(©) Rs. 15,400/- (D) Rs. 16,000/-

If 9x + 10y = 10x + 9y then 1——l=

(A)1 ey @0

(©)-1 o L
2

12 pumps of equal face capacity can fill a tank in 5 days. If 2 of them are damaged how many days
will it take to fill the tank?

(A) 6 days (B) 7 days
(C) 8 days (D) 9 days

In Q.-059 above, if 15 pumps are used and 2 such tanks are to be filled, then how many days will
it take to fill both the tanks?

(A) 6 days (B) 7 days
(C) 8 days (D) 9 days

A merchant marks the labels on goods with 20% higher price. What discount should he offer so as
to earn 8% profit?

(A) 20% (B) 10%
©)15% (D) 8%

In an annual function one teacher leads a group of 8 students. How many teachers are required if
480 students have participated?

A)60 (B) 80
(C) 40 (D) 62

A shopkeeper has Rs. 2, Rs. 5 and Rs. 10 coins. The exact amount he cannot return using all

coins is:
(A) Rs. 11 (B)Rs. 19
(O)Rs. 31 (D) Rs. 41

[BJL] [PT.0.
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064.

065.

066.

067.

068.

069.

070.

071.

072.

25 Hlex aioll il 01 dons dRAddL AR 2531 sAUME 2ud 8, Alel aiow 253t erng] Alell -
253U AL RN 24 69, HeuH 253l Alell aion 253l 4 AL 251 9. neun g3l dousS anl.

(A) 30 4+ (B) 34 A
(© 354l (D) 39 A

BuRisd uud 064+ HURdl uHial Alefl @ion 244 Alell 251 2531 douS-l neus 2kl
(A) 37 A4l (B) 34.5 44l
(C) 30.5 Al D)32.5 4l

29 4 (33l 2idR 6 (33l uld seus-l B30 el 510 8, 247 10 3+ 2iar 20 [3HYsaus 330 w54
gIRL 51U 69, o a2 10 [A[A2- [Am A dl & 14 (34 2{dR s1udL 524l AHU @dL?

(A) 70 M2 (B)'80 M7z
(©) 90 [AlAe (D) 75 [AlAe

Ul ol M, A ol 2002 214 WR21R ) RAMAR ] UAA dlumin 2usH 22°C, 37°C 244 31°C
8. s A2 drHA AL

(A) 31°C (B)30°C

(C) 32°C (D) 34°C

30 AvAAAL HUS 5 6. A €35 Avaid 3 Al dparcuni ud x4 wdisHidl 4 oue sAUHE 204, dl WReud
HOLAL HEUS 2l
(A)8 (B)3

(©) 12 ® 11

Vg AHOUY LG SIRLAL Sl 518 UAN 1440° 9. dl tigsiA S2¢fl sucgil ga?
(A8 (B) 12
©1o (D) 6

-

oA MR 6HARAL AAA ARUE 16 DA Sld 2 3Rl Al AAA AUE 9 HA ¢y, dl
ALALS L UIRAA ARALE 524l A7

A)12 52 (B) 12.5 8§
(C) 10 8 (D) 11 8

-

oA 6 $[0s 24 QAL AU 28 £9. dl dHAL QUL dSlad WHL.
A)15 (B) 56

(C) 28 (D) W -8l

30 Y- 2alacuary vzl Heus Albl.

(A)13 (B) 15
on )12
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064.

06S.

066.

067.

068.

069.

070.

071.

072.

A one meter long string is cut into 3 pieces of unequal lengths. Twice the longest is thrice the
shortest and the middle-sized is 4 cm shorter than the longest one. Find the length of middle-sized
piece.

(A) 30 cm (B) 34 cm
(©)35cm (D) 39 cm

In Q.-064 above the mean measure of the shortest and longest piece would be:
(A) 37 cm (B)34.5cm
(C) 30.5 cm D) 32.5 cm

Anuj covers a distance of 4 km by walking at a speed of 6 km/hr and 10 km by riding on a bicycle
at a speed of 20 km/hour. Find the total time taken to travel 14 km, if he takes a break of 10 min.
in between.

(A) 70 min (B)'80 min
(C) 90 min (D) 75 min

The mean temperature for Jan-Apr, May-Aug and Sept-Dec are 22°C, 37°C and 31°C respectively.
Find the annual mean temperature.

(A) 31°C (B)30°C
(C) 32°C (D) 34°C

The mean of 30 points is 5. If each point is multiplied by 3 and 4 is subtracted from the product,
find the resultant mean.

(VR (B)3

O 12 d) 1

If the sum of the interior find angles of a regular polygon is 1440°, the numbers of sides of the
polygon:

(A)8 (B) 12

©)10 D)6

If the average rainfall for Monday to Wednesday is 16 inches and that for Thursday to Sunday is
9 inches, what will be the weekly average rainfall?

A)12 in. (B) 12.5 in.
(C) 10 in. (D) 11 in.

If the sum of two consecutive odd numbers is 28, find the difference of squares of these numbers.
(A) 15 B) 56
(C)28 (D) can’t find

The median of prime numbers up to 30 is
(A)13 B) 15
on )12

[BJL] [PT.O. m
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073.

074.

07s.

076.

077.

078.

079.

080.

ol (B vis i 21 (Ban a0 AL [Bud 31 1600 8. ~12 (Ban vis 211 248l a1 AL Bud 31 1400 €.
Ald (3 wis 21 208 (a1 L (Bua 2yl

@A) 31. 4350 (B) 3L 2250
(C) 3. 3150 (D) 3\. 4850

Y

61 YRis AvAAAL AU 1 6 247 AHAL JQRUSIR —12 8. AL LA B ARAVW AWHL.

(A) -91 (B) 91
©)37 (D) -37
¢ . —1 Y A . N\ A A A ¢ N
YRS vl 73 A Aion [Quior umeL @dusaml 24 dl HOLdL Al YRS ALkl
~11 2
A) —— B)
(A) 5 (B) T
-2 11
©)— D) —
11 2
A2 204 ugral@zini sidl (BHd Henu sa?
(A) 140 -l 60% (B)'160 -1 80%
(C) 150 -1 70% (D) 120 -t 75%

2UA Ui, AvAAHI]L 245 4vaL < d) tedaunl 209 dl d i vl AAAHE 2 AL AHIRL A1 8, %A
d vl ¢y’ ol sl 204 dl diHl AAAHL 3 AL 82131 WA 6. x 2 y A2 dSldd k.
(A)5 (B) 15

(©)25 (D) it as 1l

6L Bis AW WIRAL A 5 SUHT 20, dl ol WAL UL Ul AW UL 2SIl ARAU AU 2491 6
2y, d-l AsAdL WAL,

13 5
A) — B) —
{ )18 ( )18
©~ D)L

2 9

BuRisd U21-078 1L HUlSdl NHIEL i WAL UL BuRHL AW UL gL AR 51 ARATSHL Siu d-l)
ASAAL L.

(A) 11.11% (B) 33.33%

(C) 25% ))19.45%

WS AWUSIR B Vs 8214 69 d-ll dlfu Bosaid sruell saami 2ud 214 d-ll doud 20341 saauui
2Ud dl dg arsn s2¢ a?

(A) 4V (B) 8V

(©)2v D)V
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073.

074.

075.

076.

077.

078.

079.

080.

If 2 kg sugar and 3 kg tea together cost Rs. 1600 and 3 kg sugar and 2.5 kg tea cost Rs. 1400,
how much would 7 kg sugar and 8 kg tea cost?

A)Rs. 4350 (B) Rs. 2250
(C) Rs. 3150 (D) Rs. 4850

The sum of the two integers is 1 and their product is — 12. Find the sum of their cube.
A-91 (B) 91
(©) 37 (D) -37

-13
Find the fraction resulting on applying componendo and dividendo rule to T

-1 2
A) — B) —
()2 ()11
-2 11
C)— D) —
()11 ()2

Which of the following expression has the greatest value?
(A) 60% of 140
(B) 80% of 160
(C) 70% of 150
(D) 75% of 120

The average of five numbers increases by 2, when one of the numbers is replaced by x and it
decreases by 3, when one of the numbers is replaced by y. Find the difference between x and y.

A)S (B) 15
(©) 25 (D) Can’t be determined

2 fair dice are rolled together. Find the probability that the sum of digits is at least 6.

13 5
A — B) —
18 18
©~= D)
2 9
In above Q.078, what is the probability (in percentage) of getting the sum as a multiple of 5?
(A) 11.11% (B) 33.33%
(C) 25% D) 19.45%

If the radius of the base of a cylinder is doubled and the height is halved, what will be its volume
if the original volume is V?

(A) 4V (B) 8V
©)2v D)V

[BJL] [PT.O. m
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081.

082.

083.

084.

QA 2u0ai o Lun ad ordl oasell =il gia dal [Aseu vrig .
1. 23514, agldl, aalHal, Y-

2. yetidlst, ydlawy, Yaua, RRacidR

3. ylamg, AR, oS, Sldd

4. 2augsidl, yellaw, qod, vileug

(A) 1,2, 3 211 4 6181 9 1L 69, (B) $5c1,2 24 3 201 89,

(C) 85 111 2 10 89, D) 55d 4 0 ©9.

N oA

2 2utai og a4 am-udl ao€l [ wicu [Asey vris s
1. tlatefl, cugndl, ol aay

2. UM, Balan, daL, @zl

3. a4, au, aadl, six

4. UM, s, iy, Glay

(A) $5d 1,2 3 342U 89,

(B) $5c. 1,3 ¢4 4 419U 89,

(€©)s5d 2,3 21 4 WY 89,

(D) 1, 2,3 211 4 6141 % 419y 69,

A2 2uiai o 2un s [Azgidl avel (A9 uiou [Aseu urie 5.

1. A0 x [Aue 2. a x [Qae 3. (AR x ARA 4. auzdl x 200y
(A)s5d 1 211 2 yidu 99,

(B) $5c 2 24 4 U12Y 89,

(C) $5d 11 3 Uidu 89,

(D) $5d 1 211 4 219U 89,

2 2uden 3[2uaion v de 24 W2 dloy [Aseu rie s2u.

3leuuta ued
1. cue Bl asg - Qdda
2. [31 53 oal — o tgeudl
3. 61231 QUR Yal — R vAll 4ERL sdigal
4. 81351 anai — gl skl ARl YAl

(A) $5d 1211 4 4idU 89,

(B) $5c. 1,2 24+ 3 419y 89,
(€©)s5d 2,3 21 4 WY 89,

(D) 1,2, 3 21 4 6141 % 419y 69,

[BJL]
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085. -l 20Ul s8adl 24 dril A 2 4 d- Q3L 2 [Aseu wrig s
1. AdR A3 Al A A2uvt BlaR Al — ¢ dus du
2. %HRL A L U9 EMIA — QLA LAl U3 A Aoiy ard
3. 908 UL dl € vl v — 8l2d AcsIAL AMIA
4. A81A129-L UL dudl — €Ml S s
(A) $5d 2,3 i1 4 101 89,
B))1, 2, 3 21 4 b4 o AL,
(C) $5d 1,3 i1 4 0L 89,
(D) $5d 1,2 i 4 AL 89,

086. 11 2uiail causainidl sHHRA AR sAlAdL gL [Aseu wrig 531,
(A) HSLoUg 21 st G2l dlal.
(B) Gausuou ulgauflid A dud ey 28 Gled.
(C) el A 51091 AR 8uidll 2 Hlsul 4.

(D))31s Aeizd siadfl GeR 818 £l 2l Sl

087. -l >uidl 2008 (gl w1l [Aseu ue sl
1. 4%+ d = Y
2. iy +S9 = alla
3. Hid + BeAd = Hislleua
4. [ +uu =[Qun
(A)s5d 1 1 2 120 9. (B) $5c 2 24 3 0L 89,

(C) $5d 1,3 i1 4 0L 89, (D) 1,2, 3 211 4 6141 % Wil 89,

088. -1l Ul s1-UlEanA LA @S Vil HUASIR 2 9EL USIRAL U [Aseu wris s,
Yl 2 pald Hidl aws Anal’
(A) 3us — ardldas
(B) uaRiuel — aurdlda st
(C) ARy — Hifa-l

(D) 3us — W&+l

[BJL] [PT.O. m
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089. 1A 200l s1u-dlsad Lun @S 2l AASIR 2 e USIRAL ALY [Asey uie 2.
UHIRL A E18L [AYQ Al 3L uv
(A) QU —yed)
(B) 3us — Rl
(©)Gua — Rl

(D) QRPN — HELSidL

090. Q1A [Qotdin LA @ viiel [Ase uzie s
(A) 3l — oi3sU8
B) [ + id = U
(C) HYR UHY dd vdR dadl-u —wladl e

(D) 2451 U ARIRUL 51O iRl 2l — 284y A& 512

091. When are your friends going back Italy?
(A) in (B) to
(C) at (D) into
092. We have been waiting last two hours.
(A) since (B) for
(C) to (D) from

093. He will play tennis on Monday afternoon. (Rewrite the sentence in present continuous tense

without changing the meaning)

(A) He played tennis on Monday afternoon

(B) He will be playing tennis on Monday afternoon
(C) He is playing tennis on Monday afternoon

(D) He will have played tennis on Monday afternoon

094. You must have to remember the lesson. (Spot the error)
(A) you
(B) must have to
(C) remember

(D) lesson

m [BJL] [Contd.



Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight


09s.

096.

097.

098.

099.

100.

We stayed at _ very cheap hotel.
(A) the

(B) an

(©)a

(D) None

Two hundred people (employ) by the company. (Put the verb into the correct form)

(A) was employed
(B) were employed
(C) employed

(D) employs

A friend of mine went to Canada. (Rewrite the sentence using ‘one of my’)
(A) One of mine friend went to Canada

(B) One of my Canada went to friend

(C) Went to Canada friend one of mine

(D) One of my friends went to Canada

Paul said, “I am feeling ill.” (Change into indirect speech)
(A) Paul said that he was feeling ill.

(B) Paul said that he is feeling ill.

(C) Paul said that he feels ill.

(D) Paul said that he felt ill.

It is not useful. It is not ornamental. (Join the sentences using neither.... nor)
(A) Neither... nor it is useful and ornamental

(B) Neither useful it is nor ornamental

(€) 1t is neither useful nor ornamental

(D) Neither it is useful nor it is ornamental

Neither of the two men strong.
A)is

(B) were

(C) are

(D) none

[BJL]
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101.

102.

103.

104.

10S.

106.

107.

108.

109.

110.

Which of the following phenomena produces colours in a soap bubble?
(A) Interference (B) Diffraction
(C) Polarisation (D) Dispersion

Optical fibre works on the principle of
(A) Multiple beam interference (B) Total internal reflection

(C) Diffraction at the circular opening (D) Total internal refraction

Ultrasonic waves have frequency
(A) Greater than 20 kHz (B) Less than 20 kHz
(C) Between 20-20000 Hz (D) Less than 20 Hz

Young’s modulus of a solid depends upon
(A) Length (B) Area of cross section
(C) Material (D) All of the above

Which of the following cannot be deflected by a magnet?
(A) X-ray (B) Alpha rays
(C) Electron beam (D) Beta rays

Which of the following forms of pure carbon is known as Bucky ball?
(A) Fullerene (B) Diamond
(C) Graphite (D) Graphene

The property of some materials to generate electric potential in response to applied mechanical
stress is known as

(A) Piezoelectricity (B) Ferroelectricity
(C) Paraelectricity (D) None of these

Valance band and conduction band overlap each other in
(A) Conductor (B) Semiconductor
(C) Insulator (D) None of these

After counting 0, 1, 10, 11, the next binary number is
(A) 111 3)100
(©) 101 (D) 110

Donor type impurity is formed by adding impurity of valency
A3 (B) 4
©)5 D)6

[BJL] [Contd.


Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight


111.

112.

113.

114.

115.

116.

117.

118.

119.

120.

Which of the following statements is correct?

For a particle executing simple harmonic motion about the origin,
(A) The acceleration is maximum when the displacement is maximum
(B) The acceleration is maximum at the origin

(C) The velocity is maximum when the displacement is maximum

(D) The force is maximum at the origin

Of the following, the one which has the largest de Broglie wavelength for the same speed is the

(A) Electron (B) Alpha particle
(C) Proton (D) Oxygen atom

The most favorable conditions for a real gas to liquefy are
(A) High temperature and low pressure (B) High temperature and high pressure

(C) Low temperature and low pressure (D) Low temperature and high pressure

The principal reducing agent in the metallurgy of iron is
(A) Carbon (B) Carbon dioxide
(C) Carbon monoxide (D) Aluminium

Which of the following is an example of a closed system?
(A) Hot coffee in a thermos flask (B) A tree in a garden

(C) Water in a beaker (D) Mercury in a clinical thermometer

Anhydrous aluminium chloride in non-polar solvents exists as
(A) Monomer (B) Dimer
(C) Ionic form (D) Polymer

Which one of the following will have the largest number of atoms?
(A) 1 gm of Au (s) (B) 1 gm of Na (s)
(€)1 gm of Li (s) (D) 1 gm of CL(g)

A reaction, A+ B — C + D + q is found to have a positive entropy change. The reaction will be

(A) possible at high temperature (B) possible only at low temperature

(C) not possible at any temperature (D) possible at any temperature

When air is adiabatically saturated, the temperature attained is
(A) dew point temperature (B) dry bulb temperature
(C) wet bulb temperature (D) triple point temperature

With increase in pressure, the bulk modulus of elasticity
(A) decreases (B) increases

(C) remains constant (D) none of the above
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121.

122.

123.

124.

125.

126.

127.

128.

129.

In a multi-rotor system of torsional vibrations, maximum number of nodes that can occur is

(A) Two
(B) Equal to the number of rotors plus one
(C) Equal to the number of rotors

(D) Equal to the number of rotors minus one

In the forging operation, fullering is done to

(A) Draw out the material
(C) Upset the material

(B) Bend the material
(D) Extrude the material

Which one of the following machining operations is carried out by employing gang milling?

(A) Threads
(C) Grooves

(B) Bores
(D) Steps on prismatic bars

As water flows through the runner of a reaction turbine, pressure acting on it would vary from

(A) more than atmospheric pressure to vacuum

(B) less than atmospheric pressure to zero gauge pressure

(C) gauge pressure to more than atmospheric pressure

(D) atmospheric pressure to vacuum

Pelton wheel is preferred as a prime mover where

(A) high head and low discharge are available

(B) high discharge and low head are available

(C) high head and high discharge are avail
(D) none of the above

able

A simple spring-mass vibrating system has a natural frequency of N. If the spring stiffness is
halved and the mass doubled, then the natural frequency will be

@A)yo.5 N
(C)2N

(B)4N
(D) N

The mechanism of material removal in EDM process is

(A) Melting and evaporation
(C) Erosion and cavitation

(B) Melting and corrosion
(D) Cavitation and evaporation

A satellite in space exchanges heat with its surrounding by

(A) conduction only
(€) radiation

(B) convection only
(D) conduction and convection

A composite wall of a furnace has two layers of equal thickness having thermal conductivities in

the ratio of 3: 2. What is the ratio of the temperature drop across the two layers?

@2 :3
(©)1:2

B)3:2
(D) Log,2 : log.3

[BJL]
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130.

131.

132.

133.

134.

135.

136.

137.

138.

Usually fins are provided to increase the rate of heat transfer, but fin also acts as an insulation.
Which one of the following non-dimensional number decides this factor?

(A) Eckert number (B) Biot number

(C) Fourier number (D) Peclet number

For a cylindrical rod with uniformly distributed heat sources, the thermal gradient dt/dr
at half the radius location will be

(A) one-fourth of that at the surface (B) one-half of that at the surface
(C) twice of that at the surface (D) four times of that at the surface

On a summer day, a scooter rider feels more comfortable while on the move than while at a
stop because,

(A) an object in motion captures less radiation
(B) air is transparent to radiation and hence it is cooler than the body
(C) air has a low specific heat and hence it is cooler

(D) more heat is lost by convection and radiation while in motion.

The movement of a chemical species from a region of high concentration to a region of low
concentration is called,

(A) diffusion (B) mass flux

(C) conduction (D) none of the above

During diagnosis of engine condition, normal cranking vacuum should be
(A) 3 to 6 inches of Hg (B) Over 25 inches of Hg
(C) 17 to 21 inches of Hg (D) 6 to 16 inches of Hg

In case of 1. C. Engines, typical piston to cylinder clearance is
(A) 0.02 to 0.06 millimeter (B) 0.07 to 0.09 millimeter
(C) 0.07 to 0.1 millimeter (D) None of the above

The firing order for a six cylinder diesel engine is,
@1,5,3,6,2,4 (B)1,6,3,5,2, 4
©)1,4,2,6,3,5 ?D)1,3,5,2,4,6

The theoretically correct mixture of air and petrol is
A)10:1 @B)15:1
©20:1 D)25:1

The most suitable pair of refrigerant and absorbent combination for solar refrigeration is
(A) Ammonia and water (B) Ammonia and sodium thiocyanate
(C) Water and lithium bromide (D) R22 and Dimethylformamide
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139.

140.

141.

142.

143.

144.

145.

146.

147.

148.

For a centrifugal compressor with radial vanes, slip factor is the ratio of
(A) isentropic work to Euler work

(B) whirl velocity to the blade velocity at the impeller exit

(C) stagnation pressure to static pressure

(D) isentropic temperature rise to actual temperature rise

The most common cause of premature bearing failure in case of engines is due to
(A) misassemble (B) dirt
(C) lack of lubrication (D) overloading

Crankshaft and gears are made from
(A) Grey cast iron (B) White cast iron
(C) Nodular cast iron (D) None of above

The cam follower generally used in automobile engine is
(A) Knife edge follower (B) Flat-faced follower
(€) Spherical-faced follower (D) Roller follower

The mass of the flywheel is concentrated in the rims because it will
(A) Store much energy (B) Store less energy
(C) Store zero energy (D) Make the flywheel stronger

The most effective method of determining the mechanical efficiency of an IC Engine is:
(A) Morse Test

(B) Electronic Indicator

(C) Extending the graph of fuel consumption versus bhp on the negative side of x-axis
(D) Motoring

Voltage developed to strike spark in the spark plug is in the range:
(A) 6 to 12 volts (B) 1000 to 2000 volts
(C) 20000 to 25000 volts (D) None of the above

Identify the chart in which number of defects in a piece or in a sample are plotted
(A) X-bar Chart (B) R-chart
(C) P-chart (D) C-chart

Ball pen works on the principle of
(A) Viscosity (B) Capillarity and Surface tension
(C) Gravitational force (D) Boyle’s law

The mode of deformation of the metal during spinning is
(A) Bending (B) Stretching
(C) Rolling and stretching (D) Bending and stretching
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149.

150.

151.

152.

153.

154.

155.

156.

157.

158.

159.

The canned cycle G85 stands for

(A) Boring operation (B) Drilling operation

(C) Taping Operation (D) Thread cutting Operation
On a Psychrometric chart, sensible cooling is represented by

(A) Horizontal line (B) Inclined line

(C) Vertical Line (D) None of the above

How many atoms are there in an HCP crystal structure?

A8 (B) 4

©)6 (D) None of the above

This gas has the maximum value of specific heat ratio

(A) oxygen (B) helium

(C) methane (D) carbon dioxide

For ductile materials, the most appropriate failure theory is

(A) Maximum shear stress theory (B) Maximum principal stress theory
(C) Maximum principal strain theory (D) Shear strain energy theory

If the axes of first and last gear of a compound gear train are co-axial, the gear train is known as

(A) Simple (B) Epicyclic

(C) Reverted (D) Compound

At resonance, the amplitude of vibration is

(A) Very Large (B) Small

(C) Zero (D) Depend on Frequency
The resilience of the steel can be found by integrating stress-strain curve up to the
(A) Ultimate fracture point (B) Upper yield point

(C) Lower yield point (D) Elastic point

Coating of which material is provided on turbine blade?

(A) Zirconia (B) Silica

(C) Alumina (D) None of the above

The total number of decision variable in the objective function of an assignment problem of size
n*n (n job and n machine) is

@A)n* (B) 2n

©)2n-1 D) n

Simplex method of solving linear programming problem uses

(A) all the points in the feasible region

(B) only the corner points of the feasible region

(C) intermediate points within the infeasible region

(D) only the interior points in the feasible region
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160.

161.

162.

163.

164.

165.

166.

167.

168.

169.

CPM is the
(A) time-oriented technique (B) activity-oriented technique
(C) event-oriented technique (D) work-oriented technique

Centrifugal pumps dealing with muds have an impeller of the type
(A) open (B) double suction
(C) one-side shrouded (D) two-sides shrouded

In a thick cylinder pressurised from inside, the hoop stress is maximum at
(A) the Centre of the wall thickness (B) the outer radius
(€) the inner radius (D) both the inner and outer radius

If a beam is subjected to a constant bending moment along its length then the shear force will
(A) also have constant value everywhere along its length

(B) be zero at all sections along the beam

(C) be maximum at the centre and zero at the ends

(D) zero at the centre and maximum at the ends

In a body, thermal stress induced because of the existence of
(A) Latent heat (B) Total heat
(€) Temperature gradient (D) Specific heat

Thread rolling is restricted to
(A) Ferrous materials (B) Ductile materials
(C) Hard materials (D) None of the above

A casting defect which results in general enlargement of a casting is known as
(A) Shift (B) Sand wash
(€) Swell (D) Scab

Electronic components are often joined by
(A) Adhesive (B) Soldering
(C) Brazing (D) Spot welding

In inventory control theory, the economic order quantity (EOQ) is
(A) Average level of inventory

(B) Optimum lot size

(C) Lot size corresponding to break-even analysis

(D) Capacity of warehouse

In ABC analysis, A items require:
(A) No safety stock (B) Low safety stock
(C) Moderate safety stock (D) High safety stock
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170.

171.

172.

173.

174.

175.

176.

177.

178.

179.

180.

A piercing operation in which the entire contour is not cut, is known as
(A) Burnishing (B) Broaching
(C) Notching (D) Lancing

The break-even point can be lowered by
(A) Increasing fixed cost (B) Increasing the variable cost
(C) Decreasing the slope of the income line (D) Reducing the variable cost

Which Machines have faster and more accurate digging and dumping cycle than draglines or
clamshells or hoes?

(A) Dozer (B) Tractor
(C) Shovel (D) Loader

Which is good tool for laying pipes and drains?
(A) Tractor (B) Hydraulic Excavators
(C) Shovel (D) Dumper

The property of a working substance which increases or decreases as the heat is supplied or
removed in a reversible manner is known as

(A) Enthalpy (B) Internal energy
(C) Entropy (D) External energy

Plastic can be welded by which of the following process?

(A) TIG welding (B) MIG welding

(C) Electron beam welding (D) Ultrasonic welding

The venturi in the carburettor causes the..........

(A) increase of air velocity (B) decrease of air velocity

(C) decrease of fuel flow (D) decrease of manifold vacuum

A material having different properties in different directions is known as
(A) Amorphous (B) Copolymer
(C) Anisotropic (D) Austenite

The arc in the arc welding is created by
(A) Current (B) Voltage
(C) Frequency (D) Contact resistance

The property which enables metals to be drawn into wire is known as
(A) Malleability (B) Ductility
(C) Straining (D) Plastic deformation

The crystal structure of brass is
(A) BCC B) FCC
(C) HCP (D) Orthorhombic
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181.

182.

183.

184.

18S.

186.

187.

188.

189.

190.

Mollier diagram is a plot of
(A) temperature and entropy (B) enthalpy and entropy
(C) pressure and enthalpy (D) pressure and volume

During refrigeration cycle, heat is rejected by refrigerant in a
(A) Compressor (B) Condenser
(C) Evaporator (D) Expansion valve

Maximum shear stress in a Mohr’s circle

(A) Is equal to the radius of Mohr’s circle

(B) Is greater than the radius of the Mohr’s circle
(C) Is less than the radius of the Mohr’s circle
(D) None of the above

For the gas turbine system, work ratio is defined as the ratio of
(A) actual heat drop and isentropic heat drop in a turbine

(B) compressor work and turbine work

(€) network output and turbine work

(D) network output and compressor work

The resultant of the force acting on a body will be zero, if the body
(A) Rotates (B) Does not rotate
(C) Rotate with uniform acceleration (D) Rotate with uniform deceleration

In CPM, the project duration can be reduced by crashing
(A) One or more critical activity only (B) One or more non-critical activity only
(C) One or more dummy activity only (D) Activity having independent float

Large size inventory is a sign of:
(A) Better planning (B) Inefficiency
(C) Reliable control of vendors (D) Better scheduled

If a bus takes a sharp turn then passengers inside move outward due to
(A) force (B) inertia
(C) normal force (D) friction

Turbo chargers are generally
(A) Centrifugal compressors (B) Reciprocating compressors
(C) Vane blowers (D) Roots blower

When brakes are applied on a moving vehicle, the kinetic energy is converted into
(A) Mechanical energy (B) Heat energy
(C) Electrical energy (D) Potential energy
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191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

201.

Hydraulic brakes function on the principle of
(A) Law of conservation of momentum (B) Law of conservation of energy
(C) Pascal’s law (D) None of the above

The size of intake valve is

(A) Smaller than that of the exhaust valve

(B) Equal to that of the exhaust valve

(C) Larger than that of the exhaust valve

(D) Not depending upon the size of exhaust valve

The function of a torque converter or fluid converter is similar to that of a
(A) Gear box (B) Clutch
(C) Shock absorber (D) Torsion box

The commercial lead acid cell has 13 plates. The number of positive plates would be

A)6 (B) 7

©38 D)9

Most popular manual steering gear for cars today is

(A) rack and pinion type (B) worm and wheel type
(C) cam and roller type (D) worm and nut type

Odometer is an instrument used for the measurement of
(A) power (B) fuel consumption
(C) engine rpm (D) distance

A Zener Diode is used as

(A) An Amplifier (B) A Voltage Regulator
(C) A Rectifier (D) A multivibrator
Which of the following is not a necessary component in a clamper circuit?
(A) Diode (B) Resistor

(C) Capacitor (D) Independent DC supply
Which one of the following operation cannot be performed by flip-flop?
(A) Data storage (B) Counting

(C) Adder (D) Data transfer

The capacitance microphone is used for the detection of

(A) Blood flow (B) Heart sound

(C) Foot pressure (D) Heart rate

A transistor is operated as a non-saturated switch to eliminate

(A) Delay time (B) Turn-off time

(C) Turn-on time (D) Storage time
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202.

203.

204.

205.

206.

207.

208.

209.

210.

211.

212.

Thermal noise is independent of
(A) Center frequency (B) Bandwidth
(C) Temperature (D) Power

With zero volt on both inputs, an op-amp ideally should have an output voltage equal to

(A) - 15V (B) + 15V
(C) Zero (D) CMRR

In a bipolar transistor at room temperature, if the emitter current is doubled, the voltage across

its base-emitter junction
(A) No change (B) Doubles
(C) Four times (D) Halves

A network consists of Linear resistors and ideal voltage source. If the value of the resistors are

halved, then voltage across each resistor is
(A) Not changed (B) Halved
(C) Doubled (D) Increased four times

Which one of the following is the current carriers in PNP Transistors?
(A) Acceptor lons (B) Electrons
(C) Holes (D) Donor Ions

The point of intersection of DC and AC load lines represents
(A) Operating point (B) Voltage gain
(C) Current gain (D) None of the above

A PN junction that radiates energy as light instead of heat is called a

(A) LED (B) Photo diode

(C) Photo cell (D) Zener diode

When an AC signal is applied to an amplifier, the operating point moves along
(A) DC load line (B) Both DC and AC load lines
(€) AC load line (D) None of the above

In practice, the voltage gain of an amplifier is expressed

(A) As volts (B) In dB

(C) As a number (D) None of the above

If the input capacitor of a transistor amplifier is short-circuited, then

(A) Transistor will be destroyed (B) Signal will not reach the base

(€) Biasing conditions will change (D) None of the above

A MOSFET uses the electric field of a to control the channel current
(A) Battery (B) Capacitor

(C) Generator (D) Resistor
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213.

214.

215.

216.

217.

218.

219.

220.

221.

222.

223.

The channel of a JFET is between the
(A) Gate and drain (B) Gate and source
(C) Input and output (D) Drain and source

Which of the following logic families offers better noise immunity?
(A) PMOS (B) RTL
(€) CMOS (D) ECL

The output of NOR gate is high if
(A) all the inputs are low (B) all the inputs are high
(C) at least one input is high (D) at least one input is low

A single transistor can be used to build which of the following digital logic gates?
(A) AND (B) NAND
(C)OR D) NOT

When the graph between current through and voltage across a device is a straight line, the device
is referred to as

(A) Linear (B) Non-linear
(C) Active (D) Passive

The number of depletion layers in a transistor is

(A) one (B) three

(©) two (D) four

In a transistor, the base current is about of emitter current
(A) 50% (B) 75%

(C) 100% D) 5%

PIV rating of device means
(A) Peak inverse voltage (B) Peak impulse voltage
(C) Peak input voltage (D) None of the above

The maximum efficiency of a half-wave rectifier is

(A) 40.6% (B) 25%

(C) 81% (D) 50%

Which of the following has a negative-resistance region?

(A) Step-recovery diode (B) Schottky diode
(©) Tunnel diode (D) Optocoupler

The principle of operation of a 3-phase induction motor is most similar to that of a
(A) Synchronous motor (B) Transformer with a shorted secondary
(C) Repulsion-start induction motor (D) Capacitor-start, induction-run motor
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224.

225.

226.

227.

228.

229.

230.

231.

232.

233.

The power factor of a squirrel-cage induction motor is
(A) Low at high load only (B) Low at rated load only
(C) Low at light load only (D) None of the above

Transformer cores are laminated in order to
(A) Simplify its construction (B) Minimize eddy current loss
(C) Reduce cost (D) Reduce hysteresis loss

When speed of an alternator is changed from 3600 r.p.m. to 1800 r.p.m., the generated
e.m.f./phases will become

(A) One-half (B) Twice
(C) One-fourth (D) Four times

Which of the following material possesses the least specific resistance?
(A) Copper (B) Silver
(C) Aluminium (D) Iron

Four 100 watt bulbs are connected in parallel across 200 volt supply line, if one bulb gets fused
(A) No bulb will light (B) All the four bulbs will light
(C) Rest of the three bulbs will light (D) None of the above

To decide the polarity of the voltage drop across resistor, it is necessary to know the
(A) Value of resistance

(B) Direction of current flowing through the resistor

(C) Value of voltage

(D) Value of frequency

Unit of reactive power is
(A) Watt (B) Ohm
(C) VAR (D) VA

Which of the following is not a part of DC generator?
(A) Armature (B) Commutator
(€) Damping winding (D) Field winding

The direction of rotation of DC shunt motor can be reversed by interchanging
(A) The supply terminals (B) The field terminal only

(C) The armature terminal only (D) Either field or armature terminals

Which of the following types of wiring is preferred for workshop lighting?
(A) Casing-Capping wiring (B) Batten Wiring

(€) Concealed conduit wiring (D) Surface conduit wiring
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234,

23sS.

236.

237.

238.

239.

240.

241.

242.

243.

Lamps in streetlight are all connected in
(A) Series (B) Parallel
(C) Series-parallel (D) End-to-end

Which of the following lamp you will recommend for kitchen to a poor man?
(A) Sodium vapour lamp (B) Mercury iodide lamp
(€) Incandescent lamp (D) Carbon arc lamp

The primary function of a fuse is to
(A) open the circuit

(B) protect the appliance

(C) protect the line

(D) prevent excessive currents from flow through the circuit

Out of the following which semiconductor power device is not a current triggered device?
(A) Thyristor (B) GTO
(C) TRIAC (D) MOSFET

After firing an SCR, the gate pulse is removed. The current in the SCR will
(A) Remain the same (B) Immediately fall to zero
(C) Rise up (D) Rise a little and then fall to zero

Highly skilled labour is required in
(A) TRS wiring (B) Conduit wiring
(C) Casing-capping wiring (D) Both conduit and casing-capping wiring

No-Load test on an induction motor is conducted to find which of the following losses?
(A) Stator core loss (B) Rotational Loss
(C) Stator Copper loss (D) All of the above

Ohm’s law is not applicable to

(A) DC circuits (B) High currents

(C) Small resistors (D) Semi-conductor
Inductance is to number of turns in the coil.

(A) Directly proportional (B) Inversely proportional
(C) Equal (D) Not related

A short circuit is identified by
(A) no current flow (B) heavy current flow

(C) voltage drop (D) voltage rise
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244.

245.

246.

247.

248.

249.

250.

251.

252.

Choose the false statement.

(A) SCR is a bidirectional device

(B) SCR is a controlled device

(C) In SCR the gate is the controlling terminal
(D) SCR are used for high-power applications

The asynchronous input can be used to set the flip-flop to the

(A) 1 state (B) 0 state

(C©) Either 1 state or 0 state (D) Forbidden state

The maximum power is delivered from a source to its load when the load resistance is the
source resistance

(A) Greater than (B) Less than

(C) Equal to (D) Less than or equal to

The sum of the voltages over any closed loop is equal to
(A) 1V (B)2v
(C) Infinity D) ov

The circuit in which the output voltage waveform is the integral of the input voltage waveform is
called

(A) Integrator (B) Differentiator

(C) Phase shift oscillator (D) Square wave generator

If there are 5 branches and 4 nodes in graph, then the numbers of mesh equations that can be
formed are

A2 (B) 4
©)e6 D)8

What is the main function of the operating system?
(A) To perform calculations

(B) To store data permanently

(C) To enable internet browsing

(D) To manage computer resources and provide an interface for users

The software that is used to manage hardware and software resources on a computer is known as:
(A) Firmware (B) Operating System
(C) Application Software (D) Utility Software

What type of software helps users perform specific tasks like word processing or playing a video?
(A) System Software (B) Utility Software
(C) Application Software (D) Driver Software
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253.

254.

255.

256.

257.

258.

259.

260.

The angle between two plane mirrors of an optical square should be
(A) 90° (B) 30°
(€)45° (D) 50°

Which of the following survey classifications is dependent on the instrument that is being used?
(A) City surveying

(B) Cadastral surveying

(C) Topographic surveying

(D) Traverse surveying

Which IS Code covers the requirements of metric surveying chains?
(A) IS 1495-1970 B) IS 1492-1970
(C) IS 1842-1961 (D) IS 1842-1970

The magnetic bearing of a line is 48°30°. What will be the true bearing of line if the magnetic
declination is 5° West?

(A)43°30° (B) 43°

(C) 53¢° (D) 53°30°

Which of the following is the correct formula to calculate the Reduced Level (RL) using
a rise-and-fall method?

(A) RL = HI - Back Sight (BS)

(B) RL = RL of previous point + Rise — Fall

(C) RL = RL of previous point + Fall + Rise

(D) RL = HI + Back Sight (BS) — Fore Sight (FS)

In levelling, what does “back sight” (BS) refer to?

(A) The first reading taken at a point of known elevation
(B) The reading taken at the end of a levelling line

(C) The reading taken in the middle of the levelling line
(D) The last reading taken before the instrument is moved

Which of the following is not a characteristic of contour lines?

(A) Contour lines never intersect each other

(B) Contour lines close on themselves, either within the map or beyond it
(€) Contour lines can cross at right angles

(D) Contour lines have consistent spacing for uniform slopes

Which test is useful for measurement of workability for concrete mixes of medium and low work
abilities?

(A) Slump test

(B) Compacting factor test

(C) Vee-Bee consistometer

(D) Flow table test
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261.

262.

263.

264.

265.

266.

267.

268.

269.

270.

As per 1S:712 (1984), which type of lime is used for masonry mortars, lime concrete and plaster
undercoat?

(A) Fat lime (B) Dolomitic lime
(©) Semi-hydraulic lime (D) Siliceous dolomitic lime

The Mangolia metal used for making bearings is an alloy made from

(A) Copper (B) Aluminium

(C) Lead (D) Nickel

Which of the following glass is most suitable to withstand high temperature and suitable for
making laboratory equipments and cooking utensils?

(A) Lead glass (B) Soda-lime glass

(C) Flint glass (D) Boro-Silicate glass

The material added to plastics to improve their mechanical properties and make them economical
is known as

(A) Plasticizer (B) Filler

(C) Accelerator (D) Stabilizer

Blistering is a type of paint defect in which one of the following occurs?

(A) Detachment of paint film (B) Mild cracking of paint film

(C) Swelling of paint film (D) Separation of paint film in layers
The appearance of fluffy white patches on the surface of concrete is known as

(A) Segregation (B) Efflorescence

(C) Bleeding (D) Laitance

Which of the following is not typically governed by building bylaws?
(A) Building height restrictions (B) Water supply and sanitary provisions
(C) Lighting and ventilation (D) Advertising strategies for real estate

In context with principles of building planning, the arrangement of doors and windows in the
external walls of building is known as

(A) Orientation (B) Elegance

(C) Aspect (D) Prospect

What will be the maximum built-up area if the available plot area is 600 m? and permissible FSI
is 1.5?

(A) 400 m? (B) 900 m*

(C) 1000 m* (D) 500 m”

What does circulation in context of building planning refer to?
(A) Flow of air and light through the building

(B) Water supply and drainage throughout the building

(C) The pattern of traffic around the building

(D) Easy and smooth movement of people within the building
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271.

272.

273.

274.

275.

276.

277.

278.

In building drawings, sectional drawing of a building shows
(A) The internal layout of walls and partitions

(B) The vertical cut-through view of the building

(C) The exterior view of the building

(D) The electrical layout of the building

In a sectional view of a building drawing, the term plinth level refers to
(A) The bottom part of the foundation (B) The level where the superstructure starts
(C) The roof level (D) The uppermost part of the wall

Which one from the following is not true for framed structures?

(A) The walls can be shifted at any place

(B) Planning for each floor is independent and free from the planning of lower floor
(C©) It requires soil of good bearing capacity

(D) Beams, columns and slabs are constructed of R.C.C.

In pitched roof, the intermediate inclined wooden members laid over purlins from ridge to the
eaves are called

(A) Principal Rafter (B) Common Rafter
(C) Valley Rafter (D) Hip Rafter

Name the type of window which projects outside of the external wall which provide increased floor
level, more ventilation and admit more of light

(A) Dormer window (B) Lanterns
(C) Bay window (D) Skylight

Which web portal and mobile application was launched in order to provide job opportunities to
the youth of the state and skilled manpower to the employers?

(A) Anubandham (B) SIMPLE
(C) e-Shram (D) e-MPOWER

Which scheme aims to establish skill and entrepreneurship development programs for diverse
groups of rural and peri-urban beneficiaries at the block and village levels in Gujarat?

(A) Pradhan Mantri Kaushal Vikas Yojana (PMKVY)

(B) Project Sankalp

(€) Saksham (KVK 2.0)

(D) Mukhyamantri Bhavishyalakshi Kaushalya Vikas Yojana (MBKVY)

The Apprentice Act was enacted in 1961, but on what date was it implemented in Gujarat?
(A) 01.06.1961 (B)01.03.1962
(C) 01.07.1961 (D) 25.12.1961
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279.

280.

281.

282.

283.

284.

28s.

286.

How long will ITIs track their students for job placements under the National Apprenticeship
Promotion Scheme (NAPS)?

(A) 6 months (B) 8 months
(€) 12 months (D) 24 months

When was the first National Policy on Skill Development in India formulated?
(A) 2005 B) 2009
(C) 2012 (D) 2015

What advantage does India have due to the increasing proportion of the working age group
(15-59 years)?

(A) Increased agricultural productivity

(B) Expansion of the rural workforce

(C) Decrease in population growth

(D) Higher economic growth potential due to the demographic dividend

What is the full form of the acronym RUDSETI?

(A) Rural Development and Self Employment Training Institute

(B) Rural Urban Development and Skill Enhancement Training Initiative
(C) Rural Development and Skill Empowerment Training Institute

(D) Regional Urban Development and Self Employment Training Institute

What is the nature of the National Skill Development Corporation (NSDC)?
(A) A government-owned enterprise set up by Government ministry
(B) A for-profit public limited company established by private stakeholders

(€) A not-for-profit public limited company set up under a Public-Private Partnership (PPP)
model

(D) A non-governmental organization (NGO) focussed on skill development

Which ministry was responsible for the establishment of the National Skill Development
Corporation (NSDC)?

(A) Ministry of Education

(B) Ministry of Finance

(C) Ministry of Labour and Employment

(D) Ministry of Skill Development and Entrepreneurship

When is the World Youth Skills Day observed every year?
(A) June 12 (B) July 15
(C) August 10 (D) September 25

When is National Entrepreneurship Day observed?
(A) September 5 (B) October 15
(C) November 9 (D) December 25
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287.

288.

289.

290.

291.

292.

293.

Name the scheme launched by the Labour & Employment Department to empower and motivate
the youth of Gujarat to start a promising career in the Armed Forces

(A) Swami Vivekanand Residential Training Scheme
(B) Shaurya Youth Empowerment Program

(C) Gujarat Armed Forces Initiative

(D) Veer Balak Training Scheme

How many Employment Exchanges are there in the state of Gujarat?
(A) 24 B) 36
(©) 48 (D) 60

Under which Act are public sector establishments and private sector establishments with
25 or more employees required to furnish details about their workforce and vacancies?

(A) Factories Act, 1948 (B) Employment Exchanges Act, 1959
(C) Minimum Wages Act, 1948 (D) Industrial Employment Act, 1946

Which of the following describes the role of the Gujarat Skill Development Society (GSDS)?
(A) A financial advisory body supporting Gujarat Skill Development Mission
(B) A regulatory authority overseeing skill development programs

(€) An autonomous body facilitating the Gujarat Skill Development Mission and acting as its
implementing arm

(D) A research and development entity focussed on skill development policies

When was the Gujarat Skill Development Mission (GSDM) established, and what is its primary
purpose?

(A) February 2007, for promoting entrepreneurship

(B) February 2009, for coordinating state-level skill development programs leading to employment
(C) February 2010, for managing vocational training institutes

(D) February 2012, for implementing educational reforms in Gujarat

Who is the chairman of Gujarat Skill Development Society (GSDS) Governing Body?
(A) Honourable Minister, Labour, Skill Development and Employment

(B) Honourable Chief Minister

(C) Principal Secretary, Labour, Skill Development and Employment Department
(D) Honourable Minister of State for Labour, Skill Development and Employment

Which of the following is NOT a component of the Pradhan Mantri Kaushal Vikas Yojana
(PMKYVY)?

(A) Short Term Training (B) Recognition of Prior Learning
(€) Vocational Training (D) Special Projects
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294.

29s.

296.

297.

298.

299.

300.

In which year was the National Skill Development Fund (NSDF) established by the Government
of India?

(A) 2005 (B) 2007
(©) 2009 (D) 2011

What does the acronym NSDA stand for?
(A) National Skill Development Association
(B) National Skill Development Agent

(€) National Skill Development Agency

(D) National Skill Deployment Authority

Which eLearning initiative of NSDC integrates digital learning resources through Indian and
global partnerships, enabling access to best-in-class learning resources for the youth of India?

(A) SKkill India Digital (SID) (B) SANKALP Portal
(C) Bharat SKkills Portal (D) eSKill India

The Bharat Skills Portal primarily focuses on which of the following?
(A) Providing digital learning resources to I'TI students

(B) Offering job placements

(C) Funding skill development programs

(D) Conducting skill certification exams

Which of the following is NOT considered as emerging model in the Skill Value Chain?
(A) Skills University (B) Global Skills Park
(C) Technology Centers (D) Cluster-based Initiatives

What is the primary purpose of Skills Universities?
(A) To offer a wide range of higher education programs across various fields

(B) To serve as Centres of Excellence for training students, trainers and conducting research on
skill development

(C) To focus exclusively on administrative tasks related to skill education
(D) To provide financial aid and scholarships to rural youth for skill education

What is the key objective of the Science and Technology Entrepreneurship Parks (STEPs)

initiative?

(A) To provide financial support for academic institutions imparting Science and Technology
education

(B) To standardize research methodologies across different institutions

(C) To offer scholarships to students pursuing science and technology degrees

(D) To develop new technologies and facilitate their rapid transfer to end-users through linkages
between universities, R&D institutions and industry
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